

## Transfers Report

This report contains the transfers results.

Contest Name	Black Isle
Valid Votes	4,709
Positions to be Filled	3
Quota	1,178

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Sarah ATKIN	Independent	634
Margaret BRYANT	Scottish Labour Party	243
Lyndsey JOHNSTON	Scottish National Party (SNP)	1,171
Morven-May MACCALLUM	Scottish Liberal Democrats	739
Okain John MCLENNAN	Independent	317
Bev SMITH	Independent	286
Theo STRATTON	Scottish Conservative and Unionist	695
Anne THOMAS	Scottish Greens - Delivering For Our Community	624
	<b>Total</b>	<b>4,709</b>

## Transfers Report

This report contains the transfers results.

## Stage 2 - Exclusion of Margaret BRYANT

243.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah ATKIN	26	1.00000	26.00000
Transfer to Lyndsey JOHNSTON	28	1.00000	28.00000
Transfer to Morven-May MACCALLUM	87	1.00000	87.00000
Transfer to Okain John MCLENNAN	21	1.00000	21.00000
Transfer to Bev SMITH	12	1.00000	12.00000
Transfer to Theo STRATTON	8	1.00000	8.00000
Transfer to Anne THOMAS	22	1.00000	22.00000
No further preference	39	1.00000	39.00000
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>243.00000</b>

## Transfers Report

This report contains the transfers results.

## Stage 3 - Surplus of Lyndsey JOHNSTON

21.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah ATKIN	101	0.01751	1.76851
Transfer to Morven-May MACCALLUM	193	0.01751	3.37943
Transfer to Okain John MCLENNAN	75	0.01751	1.31325
Transfer to Anne THOMAS	554	0.01751	9.70054
No further preference	217	0.01751	3.79967
Not transferred due to rounding			0.00551
	<b>Total</b>		<b>21.00000</b>

## Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Bev SMITH

298.82297

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah ATKIN	108	1.00000	108.00000
Transfer to Morven-May MACCALLUM	40	1.00000	40.00000
Transfer to Okain John MCLENNAN	63	1.00000	63.00000
Transfer to Theo STRATTON	24	1.00000	24.00000
Transfer to Anne THOMAS	27	1.00000	27.00000
Transfer to Sarah ATKIN	7	0.01751	0.12257
Transfer to Morven-May MACCALLUM	7	0.01751	0.12257
Transfer to Okain John MCLENNAN	10	0.01751	0.17510
Transfer to Anne THOMAS	14	0.01751	0.24514
No further preference	36	1.00000	36.00000
No further preference	9	0.01751	0.15759
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>298.82297</b>

## Transfers Report

This report contains the transfers results.

## Stage 5 - Exclusion of Okain John MCLENNAN

402.48835

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah ATKIN	177	1.00000	177.00000
Transfer to Morven-May MACCALLUM	58	1.00000	58.00000
Transfer to Theo STRATTON	47	1.00000	47.00000
Transfer to Anne THOMAS	30	1.00000	30.00000
Transfer to Sarah ATKIN	24	0.01751	0.42024
Transfer to Morven-May MACCALLUM	10	0.01751	0.17510
Transfer to Theo STRATTON	2	0.01751	0.03502
Transfer to Anne THOMAS	17	0.01751	0.29767
No further preference	89	1.00000	89.00000
No further preference	32	0.01751	0.56032
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>402.48835</b>

## Transfers Report

This report contains the transfers results.

## Stage 6 - Exclusion of Anne THOMAS

713.24335

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah ATKIN	246	1.00000	246.00000
Transfer to Morven-May MACCALLUM	217	1.00000	217.00000
Transfer to Theo STRATTON	15	1.00000	15.00000
Transfer to Sarah ATKIN	143	0.01751	2.50393
Transfer to Morven-May MACCALLUM	117	0.01751	2.04867
Transfer to Theo STRATTON	4	0.01751	0.07004
No further preference	225	1.00000	225.00000
No further preference	321	0.01751	5.62071
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>713.24335</b>

## Transfers Report

This report contains the transfers results.

## Stage 7 - Surplus of Sarah ATKIN

17.81525

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Morven-May MACCALLUM	457	0.01489	6.80473
Transfer to Theo STRATTON	150	0.01489	2.23350
Transfer to Morven-May MACCALLUM	131	0.00026	0.03406
Transfer to Theo STRATTON	5	0.00026	0.00130
No further preference	584	0.01489	8.69576
No further preference	139	0.00026	0.03614
Not transferred due to rounding			0.00976
	<b>Total</b>		<b>17.81525</b>

## Transfers Report

This report contains the transfers results.

## Stage 8 - Exclusion of Theo STRATTON

791.54998

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Morven-May MACCALLUM	340	1.00000	340.00000
Transfer to Morven-May MACCALLUM	8	0.01751	0.14008
Transfer to Morven-May MACCALLUM	57	0.01489	0.84873
Transfer to Morven-May MACCALLUM	2	0.00026	0.00052
No further preference	449	1.00000	449.00000
No further preference	10	0.01751	0.17510
No further preference	93	0.01489	1.38477
No further preference	3	0.00026	0.00078
Not transferred due to rounding			0.00000
	<b>Total</b>		<b>791.54998</b>